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ELEMENTARY ROW OPERATIONS

1. (Replacement) Replace one row by the sum of itself and a multiple of another
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2. (Interchange) Interchange two rows. Yiew vy

3. (Scaling) Multiply all entries in a row by a nonzero constant.
v, e— %Y AFO (gcale TeW v by .

L#'\- switch o 3 w:'\jl\

(‘ewb N



Mﬂ% g ‘3 ( [ft‘:\)

(!
Ry _xgk’
/

X3

( u -
“ﬁ\‘\\ N 1 x ‘*DII — 3x3

AN bt

[03\ + \_Xz + 5.’(3 .

1 x; 40x, — 3.7«'_;1

.|
1

) ?
= % ( 2x1 + 2x2 + 9x; = \
N\

~\’@r’ﬂ3%‘-a

\ O, + \;’Q + 5x; L Xzt HAs ._\\

o




